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QUESTION 1

Drag and Drop 

Match the data access type in a SAN fabric to the correct description. 

Select and Place: 

Correct Answer: 

 

 

QUESTION 2

How does HPE StoreVirtual DSM for windows enhanced Microsoft windows native MPIO? 

A. It automatically create an I/O path to each storage system in the cluster 

B. It automatically adjusts transfer block 

C. It automatically combines HPE thin provisioning and volume migration technology 

D. It automatically adjusts the availability bandwidth between the switch and the array 

Correct Answer: A 
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QUESTION 3

A customer needs to expand an HPE StoreVirtual VSA based cluster with two additional VSA instances. What do you
need to consider when designing the new VSA instances? 

A. They will require downtime to re-balance the resources within the cluster. 

B. They must be configured into a new management group. 

C. They must be of equal or greater capacity than the existing instances in a cluster. 

D. They can only have equal to or smaller capacity compared to the existing instances. 

Correct Answer: C 

 

QUESTION 4

A customer is a cloud service provider with infrastructure powered by HPE 3PAR Storeserv 9000.The customer is
concern about their ability to ensure the quality of service and protect their tenants from unpredictable bursts of I/O from
other tenants. What should you recommended to your customer ? 

A. Use priority optimization to enable service level for workloads 

B. Use virtual domain to automatically set multi-tenant policies 

C. Use dynamic optimization to automatically manage quality of service 

D. Use adaptive optimization to optimize service level automatically 

Correct Answer: A 

 

QUESTION 5

A customer is interested in integrating their HPE 3PAR StoreServ arrays into their OneView environment to support
automated volume provisioning. What must you install to enable the integration? 

A. HPE SAN Network Advisor Enterprise 

B. HPE SAN Network Advisor Professional 

C. 3PAR Host Explorer 

D. OneView Global Dashboard 

Correct Answer: A 
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